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QUESTION 1
Which statement describes how Snowflake supports reader accounts?
A. A reader account can consume data from the provider account that created it and combine it with its own data.

B. A consumer needs to become a licensed Snowflake customer as data sharing is only supported between Snowflake
accounts.

C. The users in a reader account can query data that has been shared with the reader account and can perform DML
tasks.

D. The SHOW MANAGED ACCOUNTS command will view all the reader accounts that have been created for an
account.

Correct Answer: C

QUESTION 2

Which SQL command can be used to see the CREATE definition of a masking policy?
A. SHOW MASKING POLICIES

B. DESCRIBE MASKING POLICY

C. GET_DDL

D. LIST MASKING POLICIES

Correct Answer: C

QUESTION 3

True or False: An active warehouse is required to run a COPY INTO statement.
A. True

B. False

Correct Answer: A

QUESTION 4
How can a row access policy be applied to a table or a view? (Choose two.)
A. Within the policy DDL

B. Within the create table or create view DDL
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C. By future APPLY for all objects in a schema
D. Within a control table
E. Using the command ALTER ADD ROW ACCESS POLICY ;

Correct Answer: BD

QUESTION 5

Which of the following conditions must be met in order to return results from the results cache? (Select TWO).
A. The user has the appropriate privileges on the objects associated with the query

B. Micro-partitions have been reclustered since the query was last run

C. The new query is run using the same virtual warehouse as the previous query

D. The query includes a User Defined Function (UDF)

E. The query has been run within 24 hours of the previously-run query

Correct Answer: AE
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